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1.

GENERAL STUDIES

‘Make in India® campaign was jaunched
on

{A) October 2, 2014

(B) September 25, 2014

(C) January 26, 2014

(D) August 15,2014

Which animal is declared as ‘Aghanya’
in Rigveda ?
(A) Sheep
{(C) Horse

(B) Cow
(D) Goat

As on January 15, 2015 the status of
Repo Rate modified by RBI was

{A) 8.0%
(B) 7.75%
{C) 8.25%
(D) No modification

*Xerophthalmia® is the disease cauwi by
deficiency of

(A) Vitamin B,,
{B) Vitamin C
(C) Vitamin A
(D) Vitamin K

Which country is called “The sugar bowl
of the world"' 7

{A) Cuba (B) Italy
(C) India (D) Japan
A keel is absent in

{A) Ostrich (B) Duck
(C) Chicken (D) Peacock

Mw@‘

7.

10.

11

12

Which Article of the Constitution
defines the duties of the Chief Minister 7

{A) Article 162
(B) Article 164
(C) Article 165
(D) Article 167

Which of the following is the fastest
memory 7

(A) Hard Disk

(B) DVD ROMs

(C) Static RAM

(D) Cache Memory

Which one of the following is not

formed in our body ?
(A) Vitamin A (B) Protein
(C) Enzyme (D) Hormone

Which of the following planets does not
have satellite ?
(A) Earth

(C) Jupiter

(B) Mars
(D) Venus

Who amongst the following captained the
Sri Lapkan Team in the final match of

ICC world T20 between India and Sri
Lanka held in April 2014 in Bangladesh 7
(A) Kumara Sangakara

(B) Mahela Jayawardhane

(C) Lasith Malinga

(D) Kushal Parera

Which zone of the Indian Railway is the
shortest one 7

(A) Delhi Metro

(B) Mumbai Metro

(C) Kolkata Metro

(D) B:m,gnlure Metro
#ﬂ‘w""
w pans



14,

15.

16.

17.

18.

Quartzite is metamorphosed from
(A) Limestone

(B) Plutonic rock

(C) Sandstone

(D) Shale

Arihant is a

(A) Multi Barrel Rocket Launcher.

(B) Airborse Early Waming and Control
System.

(C) Unmanned Combat Aerial Vehicle

{D) Nuclear-Powered Ballistic Missile
Submarine.

Whu_amunan the following joined as
Deputy Governor of Reserve Bank of
India in July 2014 7

(A) Kaptan Singh

(B) Dr. Amarjeet Singh

(C) Dr.C.A. Bandopadhyay

(D) S.S. Mundra

Whici:afﬁcfulhwlngmﬂ;of!ndiais
most suitable for cotton cultivation ?

(A) Regur soil

(B) Laterite soil
(C) Alluvial soil
(D) Red soil

The 7® BRICS summit of 2015 was held
in Russian city of

(A) Abaza
(C) Ketovo

{B) Balakovo
(D) Ufa

Which one among the following is a
plant hormone 7
(A) Insulin (B) Thyroxin

(C) Gibberellin (D) W

‘V""’of

19. "“India Wins Freedom" is the

autobiography of

(A) Syed Ahmad Khan
(B) Muhammad Ali
(C) Abul Kalam Azad
(D) Zakir Hussain

20. Which of the following countries have

an unwritten Constitution 7
(A) India (B) Pakistan
(C) USA (D) UK

21. How many strings are on a Sarod ?

(A) 5 (B) 7
(C) 4 (D) 19

22. ‘Lumen’ is the unit of

(A) Brightness

(B) Luminous intensity
(C) NMluminance

(D} Luminous flux '

23. The seat of Madhya Pradesh High Court

is located at
(A) Indore (B) Bhopal
(C) Gwalior (D) Jabalpur

24, Dry Ice is nothing but

(A) Washing soda

(B) Carbon monoxide

(C) Gaseous carbon dioxide
(D) Solid carbon dioxide

25. The immortal song Vande Mataram has

been written by

(A) Rabindranath Tagore

(B) Surendranath Bandopadhyay
(C)} Bankim Chandra Chattopadhyay
(D) Sarat Cl:mndrl Chatterjee

Birendre 't:ugn Commitiea



MATHEMATICS (Quantitative Aptitude)

26. If the number is added to two-fifths of 32.  Six boys can complete a piece of work in
itself, the value so obtained is 455. What 42 hours. In how many hours will 14
is the number ? boys complete the same piece of work ?
(A) 425 (B) 526 (A) 18 B) 17
(C) 325 (D) 562 (C) 16 (Dy 15

1 33, Ram purchased an item for T 8,200 and
27. (B+1) =7+24[6 sold it at & gain of 35%. From that
(A) 7 (B) 7 amount he purchased another item and
sold it at a loss of 20%. What is his
(€ 4'\ﬁ+7 D) #[7 overall gainfloss ?
(A) 655 gain  (B) ¥ 656 gain

28. The body weight of seven boys is (C) T655loss (D) 656 loss

recorded as 70 kg, 64 kg, 55 kg, 81 kg, = ;
4558 :ﬂk“ "_’d 0 Whl“he 3 PeP-P=0-117
average body weight of all seven vs 7 (A) 187 B) 186
@Qictis o) (©) 185 D) 184
(C) 65kg (D) 56kg
35. What is the Jeast number to be added to

29. The cost of 4 bags and 12 purses is 4523 to make it a perfect square 7
% 1,520. What is the cost of 10 bags and (A) 101 (B) 105
30 purses ? (C) 110. (D) 238
(A) 3,500 (B) 5,300
(C) T3,800 (D) T 2,800 36. The total number of students in a school

is 31700. If the ratio of boys to the girls
in the school is 743 : 842, what is the

30. One of the angles of a parallelogram is total number of girls in the school ?
35°, What will be the sum of the largest (A) 16650 (B) 16830
angle and twice the smallest angle of the (C) 16840 (D) 16680
parallelogram 7
(A) 217° (B) 2157 37. Out of the following fractions which one
(C) 265° (D) 210° is the second lowest ?

3.6 .1 S8
: ; s i 181611

31.  The area of a square is 256 sq.cm. What is 2
the value of the double of its perimeter ? &) 17 ®) 5
(A) 64cm (B) 30cm 7 ¥l
(©) 182cm (D) 128 cm © 38 @) 5

A Kumar
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a8, %ﬂf%uff—nuflﬁﬂ=? 44.  What is 214 times 98 7

. (A) 21070 (B) 20972
WA s (B) 728 (C) 21640 (D) 20492
(€) 762 (D) 612
45, 15% of 7=94.5
39. If (20)° is subtracted from the square of (A) 14.175 (B) 141
& number, the answer so obtained is (C) 630 (D) 1410
4321. What is the number ?
(A) 1m ®) 112 46. 61% of a number is 9028. What is 46%
(€ 113 (D) 114 . of that number ?
(A) 6660 (B) 6956

40. In how many differsnt ways can the i TIO% AE BR0S

letters of the word POWERS be

arranged 7 47, Ahnsmmaﬁﬁnneofld-ﬂﬁkmin

. 24 hrs. What is the average speed of th
A w5 s is av e
(©) 1440 D) 360 (A) 62kmph  (B) 68 kmph

(€) 64kmph (D) 89 kph
4l. 62626-6262+626-62+6="7 i

(A) 56934 (B) 56494 48. What is the compound interest accrued
: on a sum of T 1800 at the rate 4 p.c.pa in
(C) 54694 (D) 54664 v
(A) T 1846.84 (B) T156.84
42, If (9)* is subtracted from a square of a (C) T194.60 - (D) T146.88
number, the value so obtained is 544. '
What1s thie tiimmbec 2 49. The ratio between the present ages of a
(A) 25 (B) 27 girl and a boy is 5 : 4. Four years ago,
the boy’s age was 24 years. What will be
o) 20 i the girl’s age after five years 7
(A) 39 years (B) 40 years
A 23, . [68
43, 315 \/Tag=" (C) 32 years (D) 46 years
Ay 3 0
)31 =B 4y 50. 648+54x14=7
B (A) 134 (B) 146
© 25 © %5

X M mmm-}mﬁ#% (D) 168
ﬁ'l«"?f'ﬁu\*““' ﬁmi"‘“
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GENERAL ENGLISH

Directions (51-53) : In the following questions,
out of the four alternatives, choose the one which
can be substituted for the given words/sentence.

51.  That which lasts for a short time

(A) rotatory (B) regular
(C) transitory (D) repository

52. A person who believes in total abolition
of war,
(A) Pacifist (B) Communist
(C) Socialist (D) Fascist

53. Ready 1o believe anything.
(A) E‘mduiuus (B) Incredible

{C) Credible (D) Incredulous
54.  Find the misspelt word.
(A) archery (B) ardous

(C) authenticity (D) authority

55, A person who on his own effort
has the best chance to win,
(A) relies (B) makes
(C) runs (D) puts

56.  All the applicants and the results
will be announced next week,
{A) are to be ranked(B) are to rank

(C) rank (D} ranking
57. Find the misspelt word.
(A) orthodox (B) euphoria
{C) utilitarian (D) enemys
58. Find the misspelt word,
(A) osophagus (B) heart
C) spine (D) diaphragm
59. Sheis beautiful _____ brave,
(A} vet EB) but
{C) so D) and
60,  All the decisions, are likely to be
taken by consensus.
{A) somehow (B) however
(Cy forever (D) anyhow
61. The old man could not remember where
& _ﬁﬁdhéz sosited. (B depositi
(A) it (B) is itin
(C) willdeposit (D) deposits
62. She had freéquent toothaches. So she
decided 1o

(A) having her teeth removed.
(B} remove her teeth.

(C) removing her testh.

(D) have her teeth removed.

63. At one time, Mr. Ram . this
supermarket.
(A) was owing (B{ uséd to own
(C) owned (D) had owned

Directions (Q. 64-66) : In the following
questions, out of the four alternatives, choose the
one which best expresses the opposite meaning
of the word given in capital letters.
64, REPEL

(A} continue SH} attract

65. APALLING
(A} scarin (B) horrifying
(C) consoling (D) shocking
66. PACIFY
{A) threaten (B) challenge
(C) enrage (D) quarrel

Directions (Q. 67-69) : In the following

a;tmnons,_ out of the four alternatives, choose
one which best expresses the meaning of

the given word.

67. BECKONED

(A) sent (B) acquitted
(C) called (D} accused

68. TSTﬂATE <
(A) clever ) Ly
(€) silly (D) Eurftbbom

69. DECREPITUDE
(A) crowd (B) feebleness
(C) coolness (D) disease

70.  Are you really desirous visiting
] 7
(:ﬁm about (B) in
{C) of AD) to

71.  The sky is overcast, we the storm
rfi]l soon burst,
A) trust (B) expect
(C) suspect (D) hope

72. The candidate’s ition was _____

for its brevity and clarity.
E%; incomprehensible
CONSpicuous
Eg; rcmarllgahlc
imentary

Directions {ﬁ.m : In the following

questions, four alternatives are given for the

id[om:fvh.mc in bold in the sentence. Choose
the alternative which best expresses the
meaning of the idiom/phrase.

73.  The king had been made to eat humble pie.
{A) to have an excellent dish.

(B) to have to apologise.
(C) 1o eat slowly.
(D) to eat a good pie.

74.  The Saint’s life was an open book.

(A) an example to all.

(B) an uncomplicated one.
(C) an interesting biography.
(D) one that held no secrets,

75. He has a very nice manner, but é;uu
would better take what he says with a
grain of salt.

(A) 1o talk sensibly
(B) 1o criticise
(C) to listen to something with
v considerable doubt,
) to el
i
B\feﬂdfgmﬂmw

. (C) attend D) concentrate ﬁﬁiﬂlﬂn
/B}W : o GO
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15.

16

17.

“Bar Code” printed on the OMR Answer Sheet must not be tampered or in any way marked; otherwise the

candidature will be rejected.

T T T O e e 0T et ovew P 2w e o o Pt e 1 P ot ol A g o

% sy v i IedwaTd 19F W A S ) '

Candidate must not leave any mark of identification on the OMR Answer Sheet as this may lead to disqualification.

< T T (T S S T A S s ar Feiman % fe s aw ot on s €

Put your signature on specified space on the OMR Answer Sheet otherwise your answer sheet / candidature will

be rejected.

%ﬁmqjﬁnm T T T S T RGeS O, e S I T/ S w6
|

Incmyuudonmahid:hyﬂmimuwﬁmﬂgiminlh:ﬂMRMShuct,ywAnsﬂuShmtiﬂhblsmbu

rejected for which you yourself will be fully responsible.

. 3 ik ket ) e e O T el 8 SO O ) 1w e fen o e & s
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Name, Roll No., Examination Centre, Question Booklet Series and Registration No. should be written on the

Answer-Sheet in Computerised format. The Digits should be written in topmost boxes in blue/black ball point pen

and the circles corresponding to the digits be blackened with “Blue / Black Ball Point Pen only”.
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Example : If the Roll No. is 1523098267 and the Registration No. is 164032, then the digits will be written and
the corresponding circles will be darkened as shown below. -
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1.  Thequestions are of multiple-choice ‘Each question is provided with 8 number of choices of Answers, out o
which ONLY ONE is MOST APPRO .MuﬂmmmﬂmwmmwﬁMm&umu
the question number, using Blue / Black Ball Point Pen only. Any candidate uses the for darkening th
answer sheat his/her answer sheet will be rejected.

v e W | e e ford et i et 4 Sy e ) ek 3 & | e 5
mﬂmﬂ#m&ﬁsmhmimmﬁtmﬁmﬁﬁﬁ%;mmﬁﬁzm#wm
I T T B T W (g1 S |

Example : Hmmtmwfmquﬁﬁmmiﬂisﬂmchociu'D‘.r.heudlrkmﬂ'tuirclu'n'infmmdfqmsﬂunnu.'

as shown below :

T e v i 0 % i Faee Dt 3R E, T W HE 9 % W e DY W A e

FEw T

vl @OOO
N2 @®E@OO®

QN9 BEOO®
2 (a) Thecircles, as described in C-1 above, are to be darkened by using Blue / Black Ball Point Pen only.
I 9 C-1 § WA T SEER TR SR (v At me we g O e
(b} The shading should be dark and should completely fill the circle.
Tirer S YU TG H 6 T Ay |
{c) Unlynquimlecmmpuudiugwthzmmtnppmptimmwahnuidbedukmudunhmbelow:
mﬁw%ﬂqmm#mﬁmmwmhﬁﬁ#nmmm*&mwh

Corect /T8 : Q@O @
et/ D 0 O@ « OOO@ * PPOF - POOR®
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Note: CAREMUSTBE TAKENNOT TO DAMAGE THE OMR ANSWER SHEET IN THE PROCESS €
DARKENING APPROPRIATE CIRCLES.
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A
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white / correction fluid on the answer sheet is not permissible as the answer sheets are machine gradable a
it may lead to wrong evaluation.
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Q. Booklet Series TEST BOOKLET-2016
w qfeTT = Then-gfEET-20%%  Test Booklet No.
This Test Booklet contains UNATTACHED OMR Answer-sheet inside.

T TG % ST SHANA SLUH AW IWTS g )
TIME : 2 Hours No.of Questions : 180 Sectlon

ety = General English 15
g 2 °E T W L 100 pumsde St 7
Mathematics 25

General Hindi 15

wE b i)

TS ST 5

ARG T 15

T 15

s =it 15

Note :  Please read the *Instructions to Candidates” and then fill up the following accordingly,
Atz . aitenfeat & e fewT = o Mﬂmﬁﬂi‘ |

1. Candidate’s Name : .. e, v ok e S
wdtETE WA
2. Candidate's Full Sign. 2 e o ; seish
et w1 QT E
3. Roll No. (Fill in digits and words as shown in the Example given in A-3 helow) :
Trer s, (e fad T A3 o faremd v SamEROY 3 SETA ST ear vRET W W) B
4. istration No. :
ﬂmﬂﬁw
5. Name of Exam. Centre : . B AL e Y
i e A
X INSTRUCTIONS TO CANDIDATES
. Geweral ; wtantat
L Thlsbmklﬂmmlﬁ? anid sn Answer Sheet s kept unattsched inside the same.
¥8 e R ¥ 16 TS E AT §AE ST U SER-UERS 360 A TE K
Before attempting the question klllﬂ check that Test Bookiet No. & OMR Answer Sheet No. match with
each other. If they do not match nther m;ﬂl::'ﬁﬂl Bookiet and OMR Answer Sheet immediately.
mwﬂwmimm#ﬁg T W 3 OMR 377 TS HO U B £ Y |
afe @ waA AE1 § A OMR, I7-T9% FT- =50 7 |
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. Roll No, showld be writién in digits 55 well a5 in words in the appropriate Box provided at serial-3 above on the

upper partion of the front cover page of this Test Booklet as per the example given below ©
e TR 5 T e S 96 ) W R T et e o A R S & s e
=

bkl L t]slz]alolols|2]6]|7
Example (F270) == Roll No. (75 7) : 1523098267 stFtTrITiZINTE T 513
Nlt|wlr]|E|l1]1|{W]|Il]|E
elvio|r|rR|N|G|O|X]|V
E FIO|E|H E
E T ™

Example / FEETIT

In case the distributed booklet (inchuding OMR Anvwer-Sheet) is found defiective by a candidate, he must complain
about it within 10 minutes of its distribution and must get the defective booklet along with the OMB Answer-Sheet
exchanged with a fresh one. No complaint for exchange of booklet will be entertained later than | minutes after
distribution. \

ey Fevelt e st =it TR e e (s i) SRt v e & A 3 faafi e e & 1o
W%mzﬁﬁmnﬁmﬂmmmamtlnmmm@w it T
& foerd id Foveres weiem ¥t &1 T |

In the Test Bookbet, there are 25 questions in each of the four sections namely (1) General English (i) General
Knowledge (iii) Mathematics snd (iv) General Hindi, Thus, 100 questions in all are to be snswered.

v e % e W W AW (G) W S (i) W A0 (i) Tiforer A (iv) S Tl A weE
wUEd 25 W B | 99 T T 100 W % 3 A € |

If there is any difference between English version and the corresponding iransisted version: in Hindi of any
question, then the English version will be treated as authentic. i :

i st & e fal w3 e el s o o fiaesn o, ot sl 3 wfwe we @A R
Fach Question is of | mark, which will be awarded for the comect answer. Pero mark will be given for incormést
Answers and Questions not answered. More than one Answer indicated against a Question will be declared as
incomect Answer. _
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Use of Calculator / Slide Rule / Log Table ¢ Graph Paper /| Charts or any clectronic gadget ¢.g., Mobile Phoue,
Bluetooth, Pager etc., is not allowed. } ' ol il
memmﬂwﬁmmwm{#mm&m%mmwwm,
w5y, T S0 IR A 6

Any candidate atticmpting or using unfiir means or copying or detaching any page of question booklet or marking
the Answer on the question booklet will be expeiled and his candidature will be rojocted
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Candidates must also follow the instnictions, which may be given by the Centre Superintendent from time 0 time.
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F1 4 3 st Rl 1 BrowT A | Tt S/ ar g g et ot it F = e s
SUBMEF THE WHOLE BOOKLET ALONG WITH THE OMRANSWER-SHEET AT THE END OF EXAMINATION.
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Rough work must not be done on the OMR Auswer Sheet. Free space provided in the Question Booklet should
only be used for this purpase.
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GENERAL ENGLISH

Directions (Question Nos, 1 — 5) : In the
following questions, out of the four alternatives
choose the one which con be substituted for the
given words/sentence:

1. Oneindifferent to art and literature is

{A) philistine
(B) aromantic
{C) scholar
(D) eritic

2. A narrow piece of land connecting two
large masses of land

(A) gulf

(B) peninsular
(C) contingni
(LY isthmug

3. Open to injury or criticism
(A) sensitive
(B) invincible
(C) wulnerable

(D) naive

4. Government by & small group of all
powerful persons

Directions (Question Nos. 6 — 10) : In the
following questions, scntences are given with
blanks to be filled m with an appropriate
word{s). Four altematives are sugpested for
eitch question. Choose the correct one.

6. Weshould _ dpporunities as
they anise.

(A) snesre
(B} seire
(C) size

(D) cense

7. The studenty aren’t p-‘md
______ the examination,

(A) togive
(B) totake
{C) towork
{D) to listen

B, Wedidnt = the progmmme
o be such & huge success.

{A)  access
(B) acoept
(C) excepl
() expect

9.  The Government, in & bid to make Bihar
a preferred investment destination, has
major schemes (0 crcale

(A) pligarchy infrastructore o different stapges.
(B) monarchy (A} opened
(©) dsii " (B) lsunched
0 : (C) opposed
(D) anarchy (D) pushed
5.  One who collects coins as hobby 10 Tsuffer fromno ___ahout by
(A) statistician capabilities.
: gk (A} hallucinations
B latelist
{.' Ph" i (B) imaginations
(€} orithmiope (C) illusions
T i .
(D} numismatist i .Ndﬁw
A ﬁﬁ'@"ﬁﬁ'ﬁ‘m P
(0 i o
qn‘ﬂﬁh ) " .-ﬁma'
l.?' \_!ﬂn 2 ‘aﬁﬂ“""

—-

S — —-i



Directions (Question Nos. 11 — 15): In the
followmg questions, out of the four alternatives
choogse the one which besi expresses the
memning of the given word as the answer.

11. Diligem
(A} great {B) hard working
(C) conceited (D) proud
12 Proximity
(A} prospect (B) affinity
() rapport (I} neamess
13.  Garmulous
(A} friendly (B) talkative
(€) important D) grompy
14. Zenith
(A} pinnagle (B) reality
(€) ideal (D) hope
15. Fallacy

{A) mistaken belief

(B) unfounded fear

(C) famous invention
(D) smart move

Directions (Question Nos. 16 — 20): In the
fﬂlluwmg questions, four alternatives are. given
for the idiom/phrase written in bold. Choose
the aliernative which best expresses the
meaning of the idiom/phrase.

16. The secretary had e information at her
fingertips.
(A) not accessible
(B) in the compact disc
{C) onaiypewrier
(D) readily available

17. Consoling her davghter, the mother said
that there was no use crying over
spilled milk.

{A) complaining about an event that
vannot be changed
(B) tocry having a glass of milk
(€C) toslip and spill milk
(D) worrying about the milk that was'
"~ spillod

18, To take the bull by the horns
(A) toinflict'a crushing defeat upon the
‘enemy
(B) ta face danger
(T} 1o restrain anger
(D) to check rurmours from spreading

19, She keeps blowing hot and cold and
therefore, nobody can befriend her for
long
(A) being good and bad alternately
{B) bemng unitiendly and crtical
(C) being frendly at one moment and

unfriendly at next
(D) ‘trying to cool the situation down
‘and then raking il up apain

20, In spite of his recent financial troubles,
Ashok has pot lcami to cut his coar

according to his cloth.
(A) wear modest cloths

(B) to improve his tailoring abilities
(€} live within his income
(D) overcome his problems

Directions (Question Nos. 21 — 25): In the

following questions, there are four different
words out of which 'one is misspell. Find the

misspelt word as the answer.
2.  (A) territoreal (B) pharmacy
(C) rapture (D) remainder
22. (A) cartilage (B) marriage
(C) privilage (D) camiage
23. (A) astocracy (B) hypocrisy
(C) democrmcy (D) idinsyncracy
24. (A) laborstory (B} dispensery
{C) foundry (D) observitory
25. (A) pauge (B) gauze
(C) gaudy (D) gauramtec
Pl e A
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GENERAL HNDW[EDGE"

In which categories did Marie Cune win
her two difTerent Nobel Prizes ?

(A) Physics and Chermistry

(B) Chemistry and Medicine

(C) Physicsand’ Medicine

(D) Chemistry and Pesce

Which among the following is termned as
“Hot Money™ 7

(A) Fll (B) FDI(C) ADR (D) GDR

Which ¢ountry’s Constitution is 2 mixiure
of both Par mﬂl:tlln.t}' and Presidential
form of Government ?

tM U.S.A. (I[}}% Genmany

) France {B) Great Britain
ﬂp{um u a plamt pmchmt obtmned from :

t dnﬂd leaves } drw&ﬁ::ﬂ:

Which one among the following is not a
unit of W ru:?hl 2

{(ﬁ.} P } }' Kilogram

C) Gram D

The largest tiger reserve in lndaa is

{A) Pench (B) Corbett

(C) Nagaguos (D) Manas

The first Chief Election Commissioner of
India was

{(A) T.Swaminathan

{B) Sukumar Sen

(Cy K.V.K. Sundaram

{D) S.P. Senverma

The colour ‘of cow’s lek is shightly
yellowish dmiupmm

{A) Riboflayin (B) Carolene

iC) Ribulose (D) Xanthophyil

Who among the following attacked the
Somnath temple 7

(A) Mahmud of Gami

(B} Mohammad Ghon

(C) Itutmish

(D) Qutubuddin Aibak

Which of the following fucls causes
minimum environmental pollution 7

(A} Diesel (B) Kerosene

(C) Hydrogen (D) Coal

stands for
A} Automatic Teller Machine
Automated Ttller Mamhmr:
C Automatic Talljy

- Automated Tally Machine

Gmwmgnme than one cop on a piece of
%A‘.i thcy-:anslumwnas
unic

B) multi rlp cruppmg
double cropp
{D} triple mmpmﬁ

38.

39.

41.

41,

45.

47.

49.

(B) Faziul Haque
s

Thej of the Supreme Court hold office
(A) Till the President of India directs
lbmﬂ to hold ihe u[ﬂm:
(B} Till the Parlinments allows them to
hold the office.
) Till they attain the: ape of 65 years
)‘# Tl lhB age of 62 years.

Mazhatmy  Gandhi started his “Dandi
March™ from:

{A) Dandi EB} Porbandar 1
(C) Ahmedabad (D) Sabarmati Ashram
Which is the enly mammal that can fly 7
(A) Whale EB) Dragon

(C) DBat D) Lizard

Who gave the title of “Sardar” to Vallabh L
Bhai i

EA) Mahatma Gandhi

B) Vinoba Bhave

(C) Women of Bardoli
(D) Peasants of Gujarat

“Yosemite' isa

(A} River (B) Peak
(C) Waterfall (D) Dam

Th.e first Indian Saiellite “Aryabhau” was

unched in
(A} 1972 (B) 1975(C) 1977 (D) 1979
Rhopal Gas Tragedy of 1984 is related to
Aluminium Ph};naphldc
e
et
(D) Carhf;u dioxide
;Hhﬂlf did Anrangzish ﬁl;: (4
C; mednagar %B‘l Mumbai

Who coined the name Pakistan !
(A) Md. Ali Jinnah

Liaguat Ali Khan
(‘haudhanr Rehmat Ali

Who was the first Indian winner of Miss
Universe title 7

{A) Rita Faria EB% Aishwarya Rai
(C‘} LaraDmtﬂ D) Sushmmita Sen

' E } IS.A. (B) . K
() Japan (D) Pakistan
Stains of rust on ¢loths can be removed by
%} Oxalic Acid
Petrol
; Alcohol
(D) Hydrogen Peroxide

Blood Group was discov
(A) William Harvey (B) memncr
(C) Paviov 15)]

ﬁbw«"“‘

i‘
:
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(A) 220
(C) 2210

MATHEMATICS

The square oot of 33 —4y33 is
(A) N7 +/5)
(B) +(7+25)
(©) £(7-245)
®) +(7-5)

If a® +1 = &, then the value oFa'> +af + 1
is

(A) =3
© 2

B) 1
(D) 3

InonAABC £A: £B. 2C=2:3:4.A

line drawn parallel to AB, then the
ZACD s

(A) 40° (B) 60°

(C) 802 (D) 20°

A can do a piece of work in 12 days
while B alone can do it in 15 days. With
the help of C they can finish the work in
S days. If they are paid ¥ 960 for the

whole work, how much money A gets 7
(A) T480 (B) T 240
(C) T30 (D) T 400

The interest on a certain sum of money
mfﬂandth:bucdmmntonﬂnm
sum for the same time and at the same
rate i3 T 20, Find the sum.

(B) ¥200

D) T212

If xy{x + y) = |, then the value of

ey Y= -y is
(A) 3 ® -3
() 1 (o -1

57,  Miximum value of (2 sin § + 3 cos 0) is
(A) 2 (B) 413
(€) 15 D) 1

&%,  The least number which must be added
to 1728 to make il a perfect squire is
(A) 36 (B) 32
() 38 Dy 30

9. If goods be purchased for T 450 and one

third sold at a loss of 10%, At what gain

percentage should the remainder be sold
so as to gain 20% on the whole

transgction 7
(A) 32% {B) 15%
(C) 28% (D) 30%

60, If out of 10 selected students for an
axammaum.‘lwmofmymage. 4
of 21 and 3 of 22 years, the average age

of the group is
(A) 22 years (B) 21 years
(C}. 21.5 years (D) 20 years

Arca of the floor of a cubical toom 18
48 m*. The length of the longest rod that
can be kept in that room is

(A) 9m (B) 12m

(€) 18m (D) 6m

6l.

What will come in the place of question
mark (7) in the series ?

3,8,27 112, (1, 1396

(A) 565 (B) 680

() 1260 (D) 320

63. For a tnangle circuméentre on one of its
sides. The trangle is

(A) Rightangled
(B) Obtuse angled
(©) Tsoscles




6d.

67.

fa=4011 and b = 3989, then value of
ah="1

(A} 15990879
(C) 15939979

(B) 13899879
(D) 15998879

The compound interest on a certain sum
of money at a certain rat¢ per annum for
2 years is ¥ 2,050 and the simple intorest
on the same amiount of maney at the
same rate for 3 years is ¥ 3,000, The sum
of money is

(A) T20.000

(C) ¥ 21,000

(B) ¥ 18000
(D) ¥ 25.000

The value of feas60° + 4sec?30° —
tan’45°} | fxin® 30° + cos? 30°} is

(A) 64A[3 (B) 55/12

(C) 67/12 D) 67/10

From a point P on the ground the angle
of elevation of the top of a 10 m tall
building is 30°. A flag is hoisted at the
top of the building and the angle of
elevation of the top of the flagstaff from
P is 457, Fiudﬂielmg’thnfﬂtﬂngg_tiﬂi
(Take 3 =1.732)

(A 103+ 2)m
(B) 10(/3+1)}m

(©) m-.[jm

(D) 732m

A speed of 45 km/br is the same as
(AY 12:5mifs (B) 13m/s

(€) 15m/s (D) 12mfs

The value of 10(1 + 13 -4-8)/5
(A) 25 (B) 15
(C) 22 (D) 4

Do
v

T0.

7L

73.

4.

75.

Two successive discounts of 10% and
5%, in this order, are given on a hill of
110, Find the net amoum of money

payible to clear the ball.
(A) 294 (B} 95
(C) 795 (o) TH7

A geometrical figure has a1 least four
lines and the opposite lines are parallel
to each other and the opposite angles are
equal. What is that geometrical figure ?
(A} Equilateral triangle

{B) Pamllelogram

(C) Traperum

(D) Hexagon

1
The value of 53+ I%x%[w +—3'—1] i5
5

(B) 67/25
(D) 128/99

(A) IS5
(Cy 12811

Find two mmn pmpwnnm! between 2
and 54.
(A) Gand 18

(C) 12and 18

(B) 6and 12
(D) 6and9

A tap drips at a rate of one per
second, 600 drops make 100 ml. The

number of litres wasted in 300 days is
(A) 4320000 (B) 432000
(C) 43200 (D) 4320

A plate was sold for T 6,300 after giving
two successive discounts of izl;;% and

Hi%, Find the marked price.
(A) T 7300 (B) T7,700
{C) 78,000 (D) T7.250
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“Bar Code" printed on the OMR Answer Sheet must. not be tampered or in any way marked; otherwisc the
Candidature will be rejecied.

e Y R T 1 el v o e 7 e 4 o et o = fe 6 off A T €

F ey witenedt <61 v TEy w1 WA
Candidiste must not leave any mark of identification on the OMR Answer Sheet as this may lead 10 disqualification.
aﬁ?mwfﬂ?mwﬁmqmﬁmaﬁmﬁmﬂ%mmmﬁmwﬁ |
Put your signature on specified space on the OMR Answer Sheet otherwise your answer sheed / candidature will
be rejected.
3&1-1'173{:7 ST T ST T SR O A T, S S S T FRHTAR W T T
o =P :
In case vou do not abide by the mstructions 4s given m the OMR Aréwer Sheet, your Answer Sheet is linble (o be
rojected for which you yoursel will be fully responsible.
st e T v e 3 P T Pk s R e T el & e e T faar e e o el
e Forll aneet Tt O A SR o o

' s for 1 W C
IT UHS F1 4T Wl WG
ANSWER-SHEET IS OF OMR TYPE TOBE READBY COMPUTER SCANNER. BEFORE FILLING ITUFR, THE
CANDIDATES MUST READ THE INSTRUCTIONS PRINTED ON ITS BACK SIDE.
S A S S o S T N g A | W et g e v st FrEe
I FEAFETEE S T |
The Candidate must write legibly his name in English in the prescribed space using blue { hlack ball poimt pen:
el s O il e e e A e/ e e e wy # i e fod |
Name, Roll No., Exanination Centre, Question Booklet Serics and Registration No. should be written on the
Answer-Sheet in Computerised format. The Digits should be written in topmost boxes in blue/black ball point pen
and the circles corresponding to the digits be blackened with *Blue / Black Ball Point Pen only™.
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Example : If the Roll No. iy 1323098267 and the Regisoration No. is [64032, then the digits will bewriten and

the corresponding circles will be darkened as shown beliw.
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4 The Candidate must put his full signature in the prescribed spaces using blue ( black ball point pen.
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C. Process for Filling Answers on the Answer Sheet :
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1. The questions are of multiple-choice type, Each question is provided with 8 number of choices of Answers, out of
which ONLY ONE is MOST APPROPRIATE, The candidate must darken the sppropriate ciscis provided in font of
the question number, using Blue / Black Ball Point Pert only. Any candidate uses the pencil for darkening the
answer sheet hivher answer sheet will be rejected. :
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Example:  If correct answer for quéstion no, 9 is the choice ‘D). then darken the circle D7 in Saee of guestion no. Y
as shown below : .
v AiwE W o % (o fawe D 1 39 £, 7 W e 9 & AW U 0 = e e
YR
Q. No: | Ao
eNz2 @B

N OEOO@
2 (@ Meﬁpru,a;mfhmmc-l.mm.mhedmmdhymmuumnﬂﬁhm
2T W -1 § S T AR T ) A /S S g . e e
{(b) The shading should be dark and should completely fill the circle. :
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(¢} ‘Only otie circle corresponding 10 the most approprinte answer should be dariesed = dows Selow -
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DARKENING APFROPRIATE CIRCLES. ;
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(d) The candidates must fully satisfy themselves ubout the accuracy of the
circle using blue / black ball point pen only as no change in answer once —3
white / correction fluid on the answer sheet is not permissible as the answer o
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¢e) Ifmore than one circle is darkened using Blue/Black ball point pen or if Se sy
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PROPOSED ANSWER FOR SCREENING TEST HELD ON 21-08-2016
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